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10 (a) Describe what is meant by HTML

(b The following URL is typed in:

http://www.cie.org.uk/ComputerSciencePapers

This URL is composed of tree parts
State the part o this URL that i the:
File name

Protocol

Web server name.
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(d When sight bytes of data

have been collected, they are transmitted to a computer 100km

away. Parity checks are carried out to idently f the data has been transmitted correctly. The
system uses even parity and column 1 is the parity bit

The eight bytes of data are sent together with a ninth parity byte:

parity | column | column | column | column | column | column | column
bit 2 3 4 5 5 7 8
byiet | 1 0 0 0 ) 1 ) 0
byie2 | 1 1 1 1 ) 0 1 1
byies | 0 1 0 0 1 0 ) 0
byies | 0 1 1 1 0 o o 1
bytes | 1 o 0 o 1 1 1 1
byies | 0 o 0 o 0 o 0 o
byte7 | 1 1 1 o 1 o 0 o
bytes | 1 o 0 o 1 1 1 o
iy [ Lo [ o [ ] ]
( dentily which of the eight bytes contains an error.
byte 1
(i Identify which column contains an error.
column 1
(i The incorrect bt is indicated where the byle number and column cross.
Give the corrected byte.
m
() Calculate the denary value of the corected byte.
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‘The incorrect bit is indicated where the byte number and column cross.

Give the corrected byte.

Calculate the denary value of the corrected byte.

1

Considering the fault condtion given in part (@), explain why it is very important that the
incorrect bit is located and corrected.

o ucies 20t

9

6 High-level or low-level languages can be used when wiiting a computer program.

State two advantages of using a high-level language and two advantages of using a low-level
language.

High-level language advantage 1

High-leve language advantage 2
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4 (a) Nikita wishes to print out some documents and connects her printer to the computer using
one of the USB ports.

(i) Identify what type of data transmission is being used.

(ii) Give three reasons for using a USB port.

1

8

The printer runs out of paper while it is printing the doouments. A signal is sent to the
processor to request that the problem is dealt with.

Name this type of signal.
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9 Check digits are used to ensure the acouracy of entered data. B

A 7-digit number has an extra digit on the right, called the check digit

digit position: 1

digit: -

2

3 4 5 6

‘The check digits caloulated as follows:

each digitin the number is mulipled by its digit position
the seven results are then added together

this total s divided by 11
the remainder gives the check digit if the remainder = 10, the check digitis X)

check digit

(a) Calculate the check digit for the following number. Show al your working.
2 4

4

Check digit

1 5 0 8

(b) An operator has just keyed in the following number:

3

Circle below correct if the check digitis correct OR incorrect if the check digit is incorrect.

Explain your answer.

2

4

0 0 4 5

correct incorrect

X
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11 Describe the use of structure and presentation in a HTML document.
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(@ Explain what is meant by:

(@ Serial data transmission

(i Parallel data transmission

2

(b Acomputer in a factory is connected to a printer. The printer is located in an office 1km away
from the factory.

Identify which data transmission method would be most suitable for this connection

Give two reasons for your choice.
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4 Nine bytes of data ae transmitted ffom one computerto another. Even party i used. An addiional
parity byte is also sent.
The ten bytes artive at the destination computer as follows:
paritybit| bit2 | bita | bita | bits | bite | bit7 | bits
byte 1 1 1 i o 1 1 1 o
byte2 o o | 0o | o | o | 1 o i
byted o 1 i 1 1 o | o | o
byte 4 1 1 o | 0 | 0o | o] o] o
bytes 1 o i 1 1 1 1 o
bytes o 1 o 1 1 o | o i
byte7 0 1 1 T o | o | 1 1
bytes 0 0 1 T R 1 0
bytes 1 1 o | 0o | o | o | 1 1
paritybyte | 0 0 1 o | o | o | 1 0

One of the bits was conupted during the data transmission.
(@) Circle the corupt bit in the corrupt byte in the table above. [0}

(b Explain how the cormupted bit was found.
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